¥a
¥

(A) Encoder

HSSC

What is the function of a substation
in a transmission and distribution

- system ?

(A) To generate electricity
(B) To store excess electricity

(C) To reduce voltage which can
safely be delivered to customer

(D) To convert electricity into another
form of energy

(E) Not attempted

A circuit that changes a binary code

into a particular set of signals is
called

(B) Multiplexer -

(C) _!:?;eeecl_er (D) Selector

(E) Not attempted

What is. the pnmary function ef an
amplifier in an electronic eyetem ?

(A) Convert AC to DC i
(B) Increase the frequency of a signal

(C) Enlarge a weak signal w1theut
distortion

(D) Reduce the noise in a e1gnal
(E) Not attemptet:l

. . Syntax errere are also knewn ee

‘errors. EXE
(A) Logic - =
-(B) Semantic
(C) Parsing

(D) None:of the above

(E) Not attempted

Which ef the fe]lemng types of

oscillator produces an output with

a sine wave form ? |
(A) Non-Sinusoidal Oscillator

Ty (B) Sawtooth Oscillator

(C) Harmonic Oscillator
(D) Pulse Oscillator
(E) Not attempted
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1. W@WHWﬂﬂWW@Hﬂm
FE 8 7
() Torreh 4 T % fere
(B) afefer farsiefl w1 ¥STUT
(C) ﬁ%maﬁmmﬁ%ﬁﬁmﬁém
< oo gd¥a ®9 ¥ TgIE1 W T

(D) Ferereht Y <t % GER B F vfafiy
A % 1L

(E) S

2. T @ithe S T AE HIS B Hahait
ﬁﬁﬁﬁzﬁﬁmWQEQ___ma

Gﬂfﬂ‘% | _
M) TRIST __(BJ'“F'é‘“@'W
() Rt g -'(D)-qqden?

(E) Tt

3. ﬁﬁﬁewneﬁﬁt{tﬁﬂwermm
- mﬁ"ﬂﬁ% P EsE
N Acﬁncﬁtlﬂaﬁﬁﬁ
- (B Tawra <t sngft w@rd '--'E]'
@]W%ﬁﬁm%ﬁmwﬁ'
(e}femﬁehteqﬁ .
Sy

&, v w geeeeqﬁ Z
iﬂmﬂmmﬁw 3
= R T

—— - =
-y =g —u

R

O Wi A
- "'[::)3“@'“1?[&%@“_&pf B

5 ﬁw%rfeaﬁﬁaﬁw-mmmaﬁeﬁz{

WIS 39 Bl 3 TR S IO ﬂwi% ?
(A) TH-TEEIgsE AR
- (B) Wig¥ AP .
() THIMS JATTéeret
(D) e AMFAL - -
(E) TR
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@ Which one of the following is

measured by the loss of charge

| methud '

(A} Low Rﬂmst&nce

- ..(B) High Resistance

(C) Bar

(C) Low Inductance
(D) High Inductance
(E) Not attempted

Which of the following chart shows
individual figures at a specific time
or makes comparisons, but it places

- less emphasis on time flow ?

(A) Line - - (B): Pie
(D) None of these

(E] Not attémpted

The transformer represent as *-

(A) Rotating deﬁceﬁ""l'_: !rk_‘:

(E] Electrumc dewce .

(C) Stauc devlce = :"___J:___
(D) None nf the abnve T o
(E) Not attempted ‘ >

Two magnetu: lines uf furces
(A) Intersect each other

(B) Do hot intersect |

(C) Are crowded
{D}'”;ﬁﬂ of the: -above % L
{E) Nut attempted =]

| State the nctal eqmvalent of hexa

decimal number (B35),,.

(A) [6454]3 (B) (4564),

(C) (5465) ; (D) None of the above
(E) Not attempted
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a3 @ free sma wify faft 4
g < @ 7 Ol
LRG0 ggﬁ

(B) J=a gfRdlY

(C) T WH

(D) I=a Y

(E) rvaréd
raffag o A -1 9% T 9
A 1§ safRT el fe@mr § A1 g

w2, %ﬁwmmwﬁm

TR ? |

(B) U8
() TR if_"l‘“ﬁ“i"a'%“ﬁ
(E) TR

mﬁtﬁﬂﬂwmﬁhmm

(ﬂ)ﬂ%ﬁ'r:ww |
(B) TR IR . -
{D}mﬁﬂﬂﬁﬁaﬁﬁfﬁd
{E}mﬁm

awﬁ@ﬁum S
(A) t{ﬁ@iﬁuﬁiﬁamﬁ' :
'[B)Hﬁ{%aqﬁﬁ%

[C) 5ﬂ_&."% | K. '.a".f:
D) sEdwm@
@ o

%wamaam(ﬂssj 1 ITTH
HHged sasd |

AA) (6454),  (B) (4564),
(C) (5465), (D) atrgaaﬁﬁaﬁ’a"-!ﬁ
(E) ST9Tid :

D
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—_ cq.
% 11, UIAISRR gy ; k
11. Whatis pﬂgitivc g:cclbuclc in .t:?.n . e e Y %]Tl‘q-; | EQ“
L] : - 't i ; y
amplificr CIFet the (A) B3 ) ;
jncreascs e
e el B L g
¢ dback that decreases the " =) = Wﬁm% ;
i ;:f;ut signal voltage Or et 1 (C) e aﬁmﬁhﬁn L ? W, |
o) Feedback that produces &% '. H O iy Ry
T undamped oscillatiox (D) HIZe Y &
iback that is 180 degrees i 180 ferf IR % g
o) EF;hase with the inpu - 0TS arzry g
Not attempted - s i A
. it B devicescan | 12 freieritea % Q HH-g |
lé Which of the following c : ﬁn d | Y & ﬁ‘«‘lﬁﬂ = %%
" control alternating curremt L tion P feaatt & mg S 2 Ehl‘q"[;ﬁ .
Cﬂndﬁﬁt current in both CIIJIE n 2 e . 70 ?Fl BEIce N 4
il i Controlled Rectfier g IS W (Scp,-
(A) S ; (B) TRIAC | R
TRIA | - _
g DIAG. = p’gg@?“ﬁl TR (g) EﬂlgiR
(D) LASCR . il | E) 3| ]
(E) Not attemptec.. | |
.t when currentis | 13. £ ﬁﬂﬁwﬁmm :
Jectromagnet, Wit | SN R R
I ir;ni:;ed off, the [ron-bar: . T;_;ﬁ g, ?h% BT 9
|
(B) Gains voltage . - . . ' ; R
(C) Losses its magnetism /fg]) ma?qlmﬁaﬁmﬁ@%m%
(D) GGains ;E*U.Imm‘”::f' Y - (E] b gty .
(E) Not attempted -, . | | Em“’ -
14, Majuli Island is in-which river.? 'T "@Eﬁf‘; AR
' 1 ] Gﬂnga ' ' I-A) i (B) TF“
(A) Kaverl (B L 0
(C) Bhagirathi - (D) Brahmaputra o wieR o) 7w
d E) TR 1
(E) Not attempted s il N s
e an example of & | 15, _ TN Gishe F1 G Tt
15. ar il T e d
‘. combinationalicircuit. .~ (A) TR T
(A) Shift registers " - B TR e
(B) Multiplexers . o, (C) FRRX 5
Qoumien | ) G
(D) Flip-flops - PR ¥ '
(E) Not attempted - (E) 30w
D 4.
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16.

17.

18.

19,

Fm: low resistance measurement,
which bridge is uaf:ad ? orao

(A) Maxwell bridge EF‘

(B) Kelvin bridge

(C) Guarded Wheatstone bridge
(D) None of the above

(E) Not attempted

Which of the following chart is
used to show how values change

over time to compare data or shqw
trends? TR

(A) Line (B) Pie
(C) XY Scatter (D) Column
(E) Not attempted

When both the input signals A and B of
the NOR and NAND gate are connected
together, the output of the resultant
circuit will be equivalent to .

(A) OR (B) AND
(C) NOT .
(E) Nut attempted

- -Which smentlst is best Imnwn for

| mtrnducmg the Atnnuc theury into
" the chemistry ? -~

(A) John Dalton

(B) Rutherford

(C) J. J. Thomson
(D) None of the above
(E) Not attempted

Rar.:é Arnﬁnd' condition n::ah be avoided
in Digita.l logic circuits using _

{A] Master-slave JK F hp-ﬂnp

(B) Sh.l.ft Register

(C) Full Adder

(D) AND Gate

(E) Not attempted - .
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(D) Nune ﬂf the above

16. ﬁnuﬁrﬂﬂm%mmmww'
frar ST 2 7

(A) e Bt

(B) Ffeaa Bt
e) mée wewr i

(D) 3I9dH # B HIg el

(E) JT9aiiEd

17. Trafafag # @ frg =1 1 3T T2

fram ¥ e frn st 2 f6 2 61 o
0 71 T3 fgan & g ang % @14
Ao HFE qGAd & 7

(a) @A (B) 3

(C) TFgaTs Thet (D) HieH

(E) 79T

18. S NOR 31X NAND 72 & g1 3192 faoa
A 3 B % @Y I BIA &, f qiComH
wfe 1 ansege fras U= g ?

- (A) OR (B) AND
(C) NOT (D) I9da | A HIS
(E) ASFTHd

10, .z Frr 3 T Rigia A F
forq -1 Imf T R R 2

[A]WE‘I_:FI C- 0
(B) WHIS o
(C) . SI. ATHEA
tD}mﬁﬂﬁﬁéaﬁéqﬁf

(E) 9Ty

20. %ﬁﬁﬁﬁﬁﬂﬁﬁfﬂ@m@ﬁﬁ
o T RS ST g R ?
(A) TR~ JK frag-gaig
(B) R et
(C) Tt UsT
(D) AND?IE
(E) S
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21.

22.

23.

24,

25.

26.

Open wiring is also known as
(A) Casing-capping wiring
(B) Conduit wiring.

(C) Concealed wiring

(D) Closed wiring

(E) Not attempted

An 8:1 MUX has . select lines.

(A) 1 (B) 2
(C) 3 (D) 4 o
(E) Not attempted é'g%

Switch should always be connected
with

(A) Phase wire (B) Earth wire

(C) Neutral wire (D) None of the above
(E) Not attempted

What is the main purpose of using a

chopper in an electrical circuit ?
(A) To convert AC to DC

(B) To convert DC to AC

(C) To obtain a variable DC output

- voltage from a fixed DC voltage
~_source

{D] To increase the frequency of AC

‘supply
(E) Not attempted

The unit of magnetic flux density is
(A) Weber/m? (B) Lumens

(C) m?
(E) Not attﬂmpted

Which of the fuﬂumg is Fastest
Memory ?
(A) Cache Memory

(B) Auxaliary Memory
(C) Secondary Memory
(D) Virtual Memory
(E) Not attempted
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(D) None of the abnve |

21.

22.

23.

24.

25.

26.

afras arafan &l % AW Y
ST ST 2 |
() Srerr-hfim R
(B areft 6 Fraf
() gt g Ak
(D) 94
(E)
8:1 MUX i ERIECEC <
Bt € | .
(a) 1 (B) 2
(C) 3 (D) 4
(E) 19T
-@aqﬁgﬁm_ﬁﬁﬁﬁimﬂﬁq]
(A) & AR (B) JeAt AN
(C) e AR . (D) W ¥ & 1§ 7

. (E) ITvantd |
ﬁgatrftwﬁwmaqthnwmg@q
L TR ?

() ACH DC # FeE % fau
(B) DC %! AC & 5eeM & fou
(©) & ffd@ DC dIw Aa & T =

DC IR qeds W W ¥ frw

(D) AC 3myfd it Il Ten & fa
(E) TSR
I I G I IS 8
(4) q=/m?  (B) a@éﬁ -
C) m? D
{E: (D) Tl
frteifa o & FR-of T=d O Wh R 7
(A) 1 AW EE
(B) TBES AHK isi |
(C) foditas Aay
(D) 3mTE A9
(E) T9aniyd

I ———— e S s
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27. High Tension (HT) Line means 27. TR A () A F T : 2
(A) 230V (B) 440 V (A) 230 V (B) 41 AFre
(C) Above 11 Kv (D) Below 11 Kv (C) 11 Kv@ F9T (D) 11 Kv
(E) Not attempted (E) S

28. The Article of the Indian Constitution | 28. ety dfewm & fRa ﬂﬁ’ﬁ'}a H ﬂ'—'ﬂ% IE? [
provides for setting up of =rrftreRcon =61 Al R JrEhYHE
Administrative "I‘nI::+11.:1r'11§|3122 K (A) 323 T (B) 362 T
(A) 323 A (B) o Boi
(C) 329 A (D) 326 A (C) 329 T (D) -

(E) Not attempted : (B) 3w

29. What is the main goal of Zero Hours’ 29. I[AhIeT &Y (m) &l A A3

Maintenance (Overhaul) ? ' TR ?
(A) To maintain a certain service (A) ITHT T TH Sfa Aar Tl F91e
level on equipment @ *
(B) To correct defects found in - ,
(C) $qﬁlpme?t§ ent as if it (B). o st .
o leave the Equlpm
were new (C) IUh{UI &l 'Qle[ ETI?;":II g 98 741 Bl
(D) To report the status and - (D) Wfersarl <ht feafdr 3R ai=ETer &Hdl
.. operational capamty of g £ o e
“ “installations TSN
(E) Not attempted  ~~ 1@!:&% (E) 3T9Tiéa .

30. il .Uis a set of protocols that 30. PIFEISEIRET ﬁ?.’% Ell
allows you to access any document . qfv'{'tﬁlﬁ resiest Fﬁ%ﬁﬁ: (FACA ) % AU T
based on the net through a naming Ush ATHh ErﬂTl?ﬁf'b' ey | 3! A2 T

. system based on Uniform Resource . feed oft 'gFELﬁE KU E SAGED qg‘q'?l

Locator (URL’E} _ <1 aEfa <an - .
(A) Transrn.lssmn Control Prntm:nl / e T Bt

Internet Protocol (TCP/IP) (A) rTe (FrEd/ { 32-@3

Text Markup Language A
AB) EIF,I?;"L} g e e (B) Eqt 3w HrhaTd A (THAATE)
e W C) IS I8 A9 (SYSTIT=Y)

(C) World Wide Web nvwmr} | _{
(D) Open Source Software (OSS) _ D) 3194 9 JTRaE (aq’rqaqa)
(E) Not attempted ;;=. " 5 2 {E] 3'{91111%[?[

31. is an instrument which [ 31. T ITHT 2 aﬁ geeft 3R Th
measures the insulation resistance of @} ¥ T forega ity + 3—;\3—%51—_[
an electric circuit relamre to earth and : oy Y T 2 | Jors
one another. .

(o) Tangent galvanometer . | () wEEt 'ﬂﬁ:ﬁ‘ﬂ?—'{
(B) Meggar e | (B) AT
(C) Current transfumer L _ (C) U
(D) None of the above' (D) sqﬁ'ﬂ i aﬁé :ré’f
(E) Not attempted = . (E) ITs=Id
- D
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32. Which typc of chopper involves | 32. fpd THKR a;’ﬂiq{__ﬁ'g.m AT 61 ERLI
converting DC to AC and then back & DC #) AC T 3T o5t amm DC 1
to DC using transformers ? qfafda forar ST 2 7
(A) Step down chopper (A) 29 21349 9191 [=]#7% =]
(B) Step up chopper (B) =Y A9 197 m
(C) ‘AC link chopper (C) Ac e =Tt
(D) DC chopper (D) DC =TT
(E) Not attempted (E) aryafad

33. What is the depth of the trench 33. 'qﬁlTIH Faa 98 fren & fae amrgs
required for direct laying of | e fRadl & 7
underground cables ? | s bl % . e ot
(A) 1 meter (B) 1.5 meters (4)- 1 At (B) 1.’5
(C) 2 meters (D) 2.5 meters (g2 (D) 2.5 Hiet
(E) Not attempted « - (E) TS |

34. Concealed wiring is safe from 34,7 G EIN AT _ A @ |
(A) Humidity ~ (B) Heat (@ ImE o (B) T

=+ (C) Light (D) Electricity - (C) WhIRT . (D) fereht
0 Notaktenipted " - |y R |

35. The purpose of eenduetmg epen | 3s. g‘rGtFﬂf( 7 30 wfhe i‘-ﬁ.’ ﬂa‘{‘}l 61 3e¥g
circuit test in tranefenner is' to ' 0 ﬁlﬂﬂa HET % ? L
determine: - - .-i . -
(A) Eddy current lese , , | (A} 'Q,'ep[ i ETﬁ

i {B); Core-loss.: =1~ 55 - w5 1 f - (B) T{ E

(C) Hysteresis loss . - = - _ () I%éftﬂlﬂ Elﬁ
(D):Copperloss™ . " E¥sE (D). ?ﬂaﬁ@ﬁ '
(E] Not attempted EI (E) IR

3(:';. e Largeet wheat preduemg State in 36. ‘TRT'I ﬁ Eﬁ'@ 'ﬂ?:T ﬁﬁ\m aq %
'Inche. is _ ” :

Mize ' A) T

[A] Madhya Pradeeh B o A e
(B) Andhra Pradesh (B)
(C) Uttar Pradesh . .~ .. .. | (C) 3?!{5[&*' _ :
(D) Assami: ¥ | Seada g | (D) 3@ >
(E) Not attempted .. - = .. - (E) T,

D -8-
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37.. - Which law states that the illumination

atanypointon a surfaceis proportional

to the cosine of the angle between the
normal at that point and the direction
of luminous flux ?

(A) Inverse Squarc Law

(B) Lambert’s Cosine Law

(C) Law of Conservation of Encrgy

(D) Stefan-Boltzmann Law

(E) Not gtttmpt’;@_'

The Articles envisages states
. to provide free and compulsory
education
(A) 45
(B) 21 A
- (C) Both 45 and 21 A
(D) ‘None of the above -
(E) Not attempted

38.

In indirect resistance heating, how
is the heat produced delivered to the
charge ? il st Sl
(A) By direct contact of the heating
element with the charge
_(B) -Through a combination of
", radiation and convection
'#:-(C)"By the flow of hot and cold air

39.

currents .

(D) By passing electric current
directly through the charge

(E) Not attempted . .

Roots arise from parts of the plant
other than the radicle are called
() Advgntiﬁuus roots EI A0
' (B) Nodular roots - - - B

(C) Tap roots ;

(D) Fibrous roots

(E) Not attempted - - -
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37.

38.

39.

40.

(A) 45
‘B) 21¢

%+ S

qﬁq_mﬁq—qm‘%%wmfff
ppeft g wdifeat, 38 T3 ot e
ﬁmwﬁﬁﬂiﬁlﬁ?ﬂa‘fﬁﬂaeﬁm
£ <y % wErgard €t 2 7

() T i

() dad  Frard Fad

() it g 1

(D) EiFA-degaad faH

(E) ST

fr s T g0 g A AfEr

ﬁrmwﬁmﬁaﬁ‘rqﬁa:mzﬁné% ?
3
g

(C) eFl 45 3 21 T
(D) S9dF § & s el
(E) 3rsEnfed

Ty SRR ATad #, IeaH HE B
AW T HY TG A 7

(A) AT ¥ T AR o F @Y wOh E
[B)ﬁﬁmaﬂtﬁasqﬁm'ﬁ‘m%qmﬁ

Q) T 3 5 g e 3 e @

(D) AW % AreAd § HiY faga g/
yaIfed

(E) swEdd 7 5

q1eq % YIS 5 ot e =1 s

3§ fispe AEft 918 <Rl € |

(A) TR S5

(C) THET S

(B) i
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41. A two-way switch is used for

(A) Control one bulb from 2 points
(B) Control two bulbs from 2 points

(C) : Control multiple bulbs from 2 |
points '

(D) Ceqt__rgt one I?ulb from uﬁ,-}. point |
(E) Not attempted

42,

. software can be freely

used but it does not have to be free ofi
charge.

(A)- Open source -
'(B)- Free.Software. Feundanen (FSF)

[C] Freeware OfA0
& EE@

(D) Free eeftwere
(E) Not attempted s
The battery ueed in eIeetne veh:eles ;
and AereePeee apphee.tlene 1e
(A) Lead acid cell l:neLtterj,,r
- (B)- thlntun-Ietl battery ..
(C} UPS battery:. - o o
{D] Charger battery |
(E} Net attempted it $8) i
o BT R B A1) '
44 Dletnbutlen bee.rd is ueed fer dnudmg
Y 2'an eleetneel pewer feed mte ' 1
T e S
(B) Subsidiary elreiﬁ:_ts"ﬂ” '
C) Transformer =~ '~
i D) PR s s o

-(E)-Not _attempted R |

-‘

45. The famous Parthenen or the temple F
of Vlrgm was buﬂt ef eeleurecl marble’

stones in e |
(A) Athens {B) Meeepetenua f
(C) Rome |

!

(D} EEYPt
(E) Not attempted &
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CG - EE2q
41, QT e Al I % fem
frsmral
(B) & weat @l 2 fagati & Frafe =t
(C) 2ﬁgaﬁﬁmmmaﬁa%ﬁwha
(D) @ﬂﬁﬂﬁ@ﬁg'@fﬁ'ﬂﬁﬁzﬁi
(E) 19ty |
42. ¢ \RAIU R Wag B9 Y
wﬂnmmm%éﬁﬁﬂam
e fF g |
(A) 3197 9. -
(B). sﬁimteémwm:.}m(m)
(C) HIam
(D) ht HTRTT &, v
(E) v 5 P
43. afEE T ﬁ@ﬁﬂﬂ"ﬂ"iﬂ' A 3
I S I el a2 %t
() =S TRre de Al *
) (B)f%vfﬁqw-mﬁ;ﬂgfr“
{D) E’ﬁf{éﬁ'ﬂ' = & “
44, ﬁatwa‘lémmﬁgﬁwﬁeﬁeﬁ
ﬁﬁﬂﬁﬁmﬁ%f’c‘m%m
Gﬂtﬂ%l 2).+ Bl
(A)" 29T 0ES "fdum &
(B)emeﬁ'-ﬁa
- (€) FEemT
< (D)-f&=: - ;:1:}-:;- et
. (E)- amﬂ%la

- * wJ Y F

45, Fﬂqm%q?aﬁﬁmmm
Hﬁhaﬂtrhrm"aﬁﬁmwm?

(A) Tig =By fre‘rq‘l?:fﬁm
(C) (D} ﬁ‘m
(E) amﬂ%m
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46.i-What kind .of testing involves 46. Frg w3 wlhau o tizm A i
measuring the insulation resistance . A 3 P
across earth and.the whole system of . gl 7] . 9 %1 I
conductors ? T — | e @ 7
(A) Electrical Wiring Cuntmuity | (A) Torga and 6 rtawan w1 i@
Testing |
(B) Electrical Insulatmn Rﬂslatancc ; (B) ferega s=geer uferdg aligon
Testing ' ‘
1+ (C) Electrical Earth Cnntmu:ty Path (C) forgga gt IE“HE“ 94 g4
R Testing '
D) ferga wezl wligm
[D) Electrical Performance Testlng l .} Wal
(E) Not attempted ' . (E) 3o
47. Which type nfweldjng process involves | 47. g y&r 6 Afeen m 'f:f e °1d 7|
melting of the parent metal ? ' e IiRE 2 7
(A) Fusion Welding - Rl (A) e AfeET
(B) Non-fusion Welding - .-+ (B) T-wpem AfeeT
(C) Reslstance Weldmg TR Gl “(C) 'Hﬁ'ﬁﬂ"af?b’ﬂ
[DJ Spﬂt Wﬂldmg S | . o)A
" (E) Not attempted ;;_; . (E) v=fda
48. Acetylation of sahcyhc ac:xd éEpduces | ag. AR v =1 afecdiw
(A] Phusgene o _""_*. i 1l ; SeaTfed e 2 s '
(B) Cumene SF L) ST LT (A)BISIE i
C) A | @) wgw e T
(C) Aspicin 4. o :,—-'.T:* SE (C) TEriE - ._'-'! G2
{D] Sahcyl anhydnde For ML | {D}'%_W' ;_: S
(E) Not attempted "~ . (E) S
49. is new fé-rms'bf‘i-.?éafa:g: | 4. g 1 991 ¥ R, 98 oW
E’-"T‘ “it attacks'the cntmal mfnrmatmn Do ﬁwlﬁmmﬂm s
¢ infrastructure ufthe natmn 1 i ﬁiit“%l et e IEI EJI
@ spoofing L @) T . SR
:.--(B] Virus attack . . . ey (B) AEWESBLEHRT s
© Cybﬂfﬂ““‘“ | o (C) TRETITUL 4 oL
(D) C_Vbertennnsm TR | (D) TEER IHAG.
(E) Not attempted = l (E) TSR 0t
-11- D
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50. For electric traction, the motor | 50. ﬁgﬂ Fu % ferg Iﬁa 1 AT Ty
used is '
(A) DC shunt motor (A] DC e AT
(B) DC scries motor (B) DC Hift A
(C) DC compound motor - (C) DC HIT3g HIeX
(D) AC motor (D) AC HIX
(E) Not attempted (E) 3T
51. Ina ste:p duwn chopper, what | 51. WY ¥ I ﬂ wq 8™ ON =& E:’IHT%
component provides a path for the T"ﬁ a];‘}:[..m 2red ?ﬁg a1 & o gy e
load current when the smtch 18 .’ AR 7 45
not ON ? - - : %
(A) Inductor | (A) TSHRX e
(B) Resistor ~ - (B) Ffaligs -
(C) Capacitor. - | AR - (©) [qYIRA - |
(D) Freewheeling. Dmde {D A .. (D) Wiedifer srte {D,,}
(E) Not attempted ... .- . - (B) Iy, s
52. Which type of PLC-like deviceis | 52. T8 ¥HRK & PLC tﬁﬁ YHT aqa‘m
commonly used in light industry i HTRIG: g I A ToRaT ST § e g
and offers a lower cost alternative 9 PLC —q,ﬂ} Nkl ¥ %5 Fﬂﬂﬁ T
to traditional PLCs 2. oro : (e e e % s 1 _
[ﬂ] HMILCIDﬂtIDuEI' g% ; {A} HMI ﬁ?ﬁ[ﬂ;
. __(B)'CNC :Controller- /= - FoEL 1 3 !:::.[B] ‘CNC ﬁm ~~~~~
(C) DCS Controller =% =71 | (C) DCS R - - . 1<
(D) PLR (Programmable.Logic Relay) (D) PLR ('Sﬂ'ﬂﬁﬁ?l Fﬁﬁﬁ ﬂ??[)
(E) Not attempted s o) * (E) TSR
53. Find the analogy. “:=7 . ., | 53. wowwr @ H | |
Warm : Cnld_L ----- Igmd BT oo : ™ ; 33T : B 1 L gEF ' L3}
(A) Good = * (B), Merciful | (A) 3T [B) amaﬂ
(C) Gracious (D) 'Cruel | ©) TRt D) R
B [E} D{pt attempted " f [E) SIWﬁIH
54 A~‘ : | 13 Sﬂ_f.fﬂ-?';;l";::—t;dﬁ that is | 54.~ = "J,E ETEE.aEI'( Eﬁlg % 'El"R?f EIE"&E
des1gned tﬂ search for mfurmanﬂn un EHS'&’ %ﬁl ﬂ SIS TN ﬁT'I ﬁ'ﬁlﬁq
thewurldmdeweb 55 e I e 8 | Lh 1
(A): Wﬂb search engmﬂ i (A) IEFE 9T .
(B) Uniform Resource Locator (URL) (B) Eﬂ:ﬁrq-m:f o T (q\mtqa)
(C) Domain Nmne’System (DNS) (C) SIAT -\ forew (?&qqqa)
(D) Web browsersi: 751 (1) | (D) 99 TS - i
(E) Not attempted SEATRTNG () I (E) AT
‘D :12-
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55.

Which of the following is not a
requirement for good lighting ?

(A) Sufficiency .

.. (B), Absence of glare

(C) High contrast colored light
(D) Steadiness

_ __[E] Not attempted

55 ,wmch method of heat transfpr does

57.

" (E)-Not at'temﬁted

58.
" ""play in an electric drive system ?

59.

not require a medium for propagation

' "and occurs:in.-a Strq.lght line ?
. (A) Conduction . ‘
" (C) Radiation
o [E} Not affémptéd

(B) Convection

) _[D) _Ipﬂuct_inn

.+ ' printers are ideal for
printing multiple copies.

(A) Impact
<€) Thermal

(B) Nﬂn-lmpact
[D] Lase.r

g

-".r "

What role does.the power converter

(A) It converts electrical energy to a

suitable form .and controls power |

flow tu ﬂ'lﬂ motor

‘+{B) ‘It ‘controls ‘the ‘motor directly

_ w1thnut feedback

e

| ';{C) It nnly converts AC tu DC

(D) It measures the speed of the
motor [=]%:4[s]

(E) Nut attemptei:l' 3 | "' EI

th} a.mcng the fullumng
personalities is considered as ‘the
founder of Kun_]pura pnnmpallty in
Haryana ?

(A) Mith Singh  (B) Sa.l'ub Singh
(C) Gurdit Singh (D) Nl_]abat Khan
(E) Not attempted '~

i

55.

56.

S57.

_,.53_.

- (C) Tafertor

CG - EE24

st A 3 frg Frefeftaa 4 4
R~ Tl T ¢ 7

(A) Tl

(B) =hrEIY 1 ST

(2] e Mg R

(D) featn

(E) IT941iéd ggﬁ.

o waqrr @ fea faft 3 de
¥ Roru moam <h smazaFal @l Bl 2
o 9 e X A Ear € 7

VK EIGE - (B) Wa@

(D) T

(E) 3TTiEd

firex w4 sl =1 fiie 70
ffegEmd@aal
(A) 3R -
(C) &

(E)- mﬁﬁ

ﬁ—gﬁ@sasrmwﬁﬁmatm‘éﬁ?rw

(A) agﬁgamﬁaﬁsqgﬁmﬁ
gfafia S & 3 gt ¥ faselt &
ware ! fAafa o ?

(B ﬂgﬁﬂtﬁl@%ﬁ%%ﬂi‘rrﬁa‘ﬁ

Prifya =tar 2

~{C) ¥& HuA A(::Eﬁ‘t Dcﬁ trﬁﬁﬁ-h

S9.

-13-
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FEATR

1“1'{1:)) Eﬁgtﬂa%ﬁmﬁf%’tmﬂm%

(E)

Wﬁﬁ%%ﬁﬂ%ﬁﬁm%
WW“HWWW% ?
(a) e g (B},E_rr%aféa

(C) Wea e (D) st @™

(E) 3TsETd
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60. What is the main purpose of using a |

level in electrical installations ? |

(A) Measuring voltage . -

(B) EHS_uring installations are
straight and level

|
|
|
(C) Dﬂlf:lcting voltage presence :

(D) Routing new wiring
(E) Not attempted

i ' - " ! ]
61. combinati ‘
;ifp;amuel Combination of two resistors
1 Q eaqht.,‘ IS connected in series with
a 1.5 Q resistor. The total combination f

T

U e ®R 7 %
(A) SeeST AT

(B) 48 G F 5 e«

- guaad W’M

(D) 7§ TR Y T2 Fy

61. 10 3% % 4 Ty
- HEA TF 1.5 Q Wik

Sl
i

BT TF s
e

is Connected across a batterv | | _
ryof 10 V. °t 1y Bl
The current flowing in the circuit is al'ﬁﬂ ﬂ?ﬂ 7 ST SIG g | ’-‘I‘ftq?; 3 ;;Vﬁ e
A P 2 E : “ _‘ 2t AT
oA @20 P T
(C) 0.2 A ;o [D] 051"-"1 ‘Jﬁg_ﬁf}ggfzﬂﬁ; . , (B) 20A
() Not attem T g - SR TE) 0.8
pted __-———,——,:T , e A D A
62, Whatis thEB ' \i""fl-« _.-I-_',IZ E‘F‘ @
ureau of Ener i N 62\ ol W HE
(BEE) T€sponsible for ? ~ gerfii;;ienc};TG,z,{_ Em 3T TR Eﬁ;ﬁm’\ﬁ& (ﬁ‘lﬁ) P

e A ‘_ . - |
5 | J_-Slfearheadjpg the improvement of
ergy efﬁmengy of the If:;:pnnmjr !

) Bicraning ey
+ " Indig "B energy consuription in

() Developing new

s il it ';" LR 5 S TR

gl
€nergy resources |

. consumers |
bRt Sl i _'|‘ . L T ":- E]- -E] |
(E) Not attempted . -. 3&% |
Dompgnge & o Rl ;

|

3 Find the analogy, . -
. Gills:Figh: ", Human
: (A) Héal:é SR T Fane .

Pal T

(B) Hands

(==
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which type of timer retains ils TR 1 2T itz GRAC B
6% accumulated time cven if the 64. fod _Em quH T f: &
. epabling input goes false ? Wy aqe Gftrd @adg FRUL Tl @
(A) Delay-OIF . (A) Delay-OFF
- (B) Delay -ON _ (B) Delay-ON-
(C) ‘Delay-ON-Retentive (C) Delay-ON-Retentive
(D) ‘Delay=ON-ORE" (D) Delay-ON-OFF
(E) Not attempted (E)
g5. Which' type of power converter is 65. DC s @ ufadH dreest/TEd
used to get variable voltage/variable mﬁﬁ T F 3 fore fRE 91 =% gral
frequency from a DC supply ? et o I R STl € 7
(A) AC to DC converter | (A) AC & DC FaEH
- g (B] DC to DC converter ‘ (B) DC ﬁ DC zh—,ai(
(C) Inverter Dl 730) (C) K
(D) Cycloconverter g .. (D) GTEEAAK
(E) Not attempted = (E) A5EHd
66. Which of the following is not an 66. Frefafga § @ HA-a1 FfeRa ac I
-+ ~example of a.passive element ? JCTBT gl 2?7 o
(A) Resistor -. -~ (B) Inductor (A) U2 ED - (B) Uh
(C) Capacitor (D) Voltage Source (C) auriE - (D) e i
_67. -What is the definition of Spacing | 67. WehI Saedl W& 732 R
Height Ratio'in lighting'? . , qﬂmw % ? -
(A) The ratio of luminous flux to L (A) SHEER yaTg 3 Tt &£ g FI
power consumed . | (- 3
(B) The ratio of the distance between oo
" adjacent luminaires to their ' (B) 3T TIfFHAU & = gt 1 hric
~ height above the working plane 9 Q I 9 + AT g
WHC) The ratio of the illuminance to 5 (C) G| @ a% Q9T bl AT
the distance from the source el
(D) The ratio of luminous intensity to (D) ¥de % & & 170 FHHAN o
the area of the surface SRR : o,
(E) Not attempted " (E) STyt T
68. is the main geographical | 68. zieTom & <ol T & TS 6
feature of Haryana in southern part T Ve Aewar g - -
of the state. | o .' (A) Rranfers vaifeat AR
(A) Shivalik hills B - =
(B) Ghaggar plane =~ (B) mﬂ"“ it —
(C) Semi desert - oL ; (C) e ]
(D) Aravali hills . | (D) e ggriedl
(E) T5T&d

(E) Not attempted =
-15-
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69. Why is it crucial for a power station to | 9. frdl 9mET A % forg @ 3 Sy
regulate electrical energy gencration ﬁgd Wf e @l ﬁﬁqﬁa T i
according to demand ? W 27
(A) Because electrical energy can be ) Tﬂﬁﬁﬁ Ry i B ufiey 3
stored for future usc 2 P = ST
(B) To prevent overloading the power gugtd feha TFFHT%
station (B) TR RIH T AT 1 1y
(C) Because all electrical energy % fou
generated must be consumed () HifR 3w g arctl ot forga o
immediately ' L. . - i - ﬁ ST
(D) To maintain a constant voltage '| . gz?r el
supply (D) ﬁ!ﬁt diees qu;ﬁ![ LI CE| a?ﬁ‘—m
(E) Not attempted (E) ammﬁm
70. The function repeats text a 70. e Eﬂ‘ 'rﬁ; HE1 | S H
given number of times. SIETAT 8- |
(A) REPEAT (B). RIGHT | (A) REPEAT  (B) RIGHT
(C) MID ‘ {D) REPT % (C) MID = (D) REPT
(E} Not attempted | (E) I |
71. Whatis one of the mam_ envuunmental 71. TR QT-ITvﬁ SISt (THEE) &1 I9am
benefits of using Solar Energy ; FHF HE-‘-T WfﬂTUﬂ?T ‘Eﬂ‘iﬁ 13w
Technologies (SETS) ? | | e & R
(A) Increased greenhouse gas . (a) MERE e 3?\‘4?{? ﬁ ﬂﬁ'{
~ emissions ) ' WG&{ ﬂ-_ ‘EBFﬁ sﬂ_{ n ﬂ
{B} ‘Reduced CO enussmns and 2 iV COf Y ﬂ i
prevention nf toxic gas emissions ; [ + &
-/ (C)"Depletion of natural resources | 7 (C) WPt qETAl W ET'H
(D) Increased air pollution 1) WWW - E%E
(E} Not attcmpted = g ] o '.;[E) alﬂ'ﬂTﬁ:lH | %% )
2. Arrange the wnrds gwen belnw in a ?ﬂ% ﬁff TIH; Elch"T 'm'bl ‘v'ﬂ?f'm" H ﬁ a0
‘meaningful sequﬂnce ) | W [ g i
1 Pﬂhce Tm . : .'. = \ I. - .‘ ) ;o 1 H%H r: ,
2. Punishment A _ g, g ¢!
3. Crime ertag M 3. gy
, 14adudge: ;o - e R, L= 1 ©31 1311/ B
5. Judgement: " i o , & Bofy
(4).371,2,% 5. S (A) 3,1,2,4,8 ... 2"
(BJ 1,I2 4 3 5 i _'1_' L dyien (B} 1, 2: 4’ 3’5 .. ._. :
(C) 5,4, 82 L fiz: "L 7 . (C) 5,4,3,2, 1. .
(D) 3, 1,4, 5,205 570 (1] ,' (D) 3,1 4,5,2 1
(E) Not attempted .=/ .. (E) IR ..
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73. . Which programming standard do most
modern PLC systems adhere to ?

(A) 1EEE 802.11  (B) ISO 9001
*F(c) IEC 61131/3 (D)’ ANSI C++ |
{E) Nﬂt attemptecl | .

ol T Lo 12t : | 2

74. I‘fsmx"l_?rtm_l}'=1 2.,thf::nz:‘i
o 15 gqual to I. ) i
@1 | (B) 0 Fetow
(€) -1 D)2 = = [

: (E}ﬁNnt attempted 2 0 H |

75, Which type of solar cu]lec:tﬂr is |
commonly used for residential |
water heating and-can achieve '
temperatures less than 180°F ?

(A) Evacuated-tube collectors

[B) Fiat—plate cullecturs _
(C) Parabuhc tmugh cnllectnrs W l
(D) Central receiver systems:. |

(E) Nt{t attempted . |
Tl bt (g =8 |

76. Which tool is specifically. demgned for | |
wire cutting and can trim wires in

ght spaces ?
L (A] Multimeter * [B) ‘Fish Tape
(C) Plier (D) Flashhght |
(E) Not attempted - - |
e b Bl |

What is one methnd for improving the,
puwer factor in a facility ?. =«

[A) “Installing capacitors . . :

(B) [ncreasmg the reactwe pnwer

— a--'—-

77.

-

_In

. i"demand- Tk S R
(C) Adding more mdﬂcﬁv’é loads

(D) Reducing the voltage supply

(E) Not attempted . e

=17~
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73.

74.

75.

76.

77.

CG - EE24

sttty angfs duer faren e
Sfé AT 1 9T HA G 7
(A) IEEE 802.11 (B) 1SO 9001

(C) IEC 61131/3 (D) ANSI C++
(E) Wﬂﬁﬁ

zrfaﬂinx=lftt ,tany =— 21;2’ ':lez
T

(A) 1 (B) O

(C) =1 (D) 2

(E) ITsmea 9
mm%aﬁwﬁmm
9 3aTdiE e qiad o, ferg feRan e

2 31 a8 180°F @ N AIHTH TR
Ghar e 7 L @%E

(A) Frera-=a 9uEs é“f@
(B) FHE-WIC. HARH -

'(C)wﬁmnﬁw

(D) Hger Peeftar Foverd
(E) ST

'::ﬁq—mwmﬁ?ﬁmﬁmm

¥ fou feseT Rear T R SR T T
ﬁaﬁﬁﬁqaﬂm%? | -
(A}Il?r‘rﬁ'ﬁﬂat [B]f?w%q e
(C) =T - (131
{E)a:rsrfnﬁla |

ﬁ;ﬁgﬁmﬁwﬂm*(ﬁgw%m
LCOREI S A
(A) iftex wfa @

I'

(@) wRifraeie feeh B # afa

(C) 3tfereh ITPTHATCH MIT ST,
(D) SieesT IGL <l FHH HE
(E) Joeide .
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78. What is the characteristic of an
independent ideal voltage source ?

(A) It has infinite internal resistance

(B) It produces a variable voltage
across its terminals

(C) It produces a constant voltage
across its terminals irrespective
of the current

(D) It does not exist practically due tu
zero internal resistance

(E) Not attempted

79. Separators in battery is a
material, _ [E#%%[E)
(A) Conductive E !
(B) Non-conductive - '
(C) Partly conductive
(D). Heavy conductive
(E}_f‘ Not attempted.

80. In Haryana Ta_]ewa_la Bazrage is buﬂt
on which river ? ‘

[B) Ya;nur-la

{D) Chautang

(A) Saraswatl
| [C] Krishnavau
| '(E) Not attempted

81. The dlrectmn uf mduced emf In
generatnr 15 found by

(A) Fleming'’s Left-hand I'IJ]E
(B) Fleming’s RJght—hand rule
(C) Faraday’s law - O
(D) Kirchhoff’s law et
(E) Not attempted

e ey
82.° What is the Unit of illumination ? |
(A) Candela  (B) Lux - l
(C) 'Lumen "'-*'(D}_ Watt '

(E) Not attempted =

18-
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78. wmmaﬁﬁamﬁm

R 7
(A) mmﬂ‘oﬁuﬁlﬂﬁmg

(B) F€ A9 AT T TH Uity

oS I HET 2
(C) ¥8 HTZ ! T Y form auy
el WO O Aieds 3apy
Hl B e
(D) Y AHTaRH g Eﬁnvrggqﬂ
. HTEIF ¥4 4 AfEr 7
(E) iy
79. <t 4 faues _qmif R
(A) WTEH
(B) . TR-YaTgehid
(C) AT FI-H FaTehiy
(D}mﬂwaﬁﬂ -
(E) JT9mée
80. AT St g 3 e 7 w4
(A) Tt “(B) FHAT
(C) St (D) =z

s2. Wifa (SR B v 2

(A) . (B) @
(0). AT . (D) 9%
(E) 93T -
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g3. . Which type of renewable energy
involves the harnessing of heat from
within the Earth ?

i(A) ‘Solar Energy

(B) Wind Energy

(C) Biomass Energy
(D) Geothermal Energy
(E) Not attempted

To add a column or a row number,
the library-function used is

(A) AVERAGE  (B) SUM

(C) COUNT - (D).MAX

(E) Not attempted **
What is the pnmary charactenstm

of main line services in terms of the
distance between stops ?-

(A) Less than 1 km.

(B) Between 1and 8 1-::m

(C) More than 10km ' m&im
(D) Exactly 5 km Rt
i?-(E) Nut attemptﬁd

85.

S

Whlch law states 1I'_h:aht the ﬂlummance
at any pnmt on a plane perpendicular
to the line joining the point and source
is inversely proportional to the square
of the distance between the source
and the plane ? £ -

(A) Ohm’s Law
7 (B) Lambert’s Cosine Law -
- (C) Inverse Square Law -
(D) Joule’s Law
(E) Not attempted

Asia’s largest clnth market 13 situated
in of Haryana

(8) Ambala (B) Panchkula
(C) Rohtak -~ (D) Mohali .
(E} Not attempted. R Ll

B7.

83.

84.

85.

86.

'(C) COUNT

CG - EE24

fore W <t Teftemfa St | gl ok
“fie & 9T 1 Qe Mk & 7

(A) €I S Dj7d0)

(B) Uad Sl %
(C) armTE S

(D) Yarfta Sl
(E) o

T i 41 Th U & TG Fl A8 &
femg, nﬁnﬁmwﬁwaﬁﬁﬂw
g e

(A) AVERAGE

(B) SUM
(D) MAX
(B) FEifE |
widl & <t 6t gft % e d g T
fanait hr wrfien fdtwa 7= @ 7
(A 1fEfia=sa
(B) 13 8 Reft F i
(C) 10 ferdft & it
(D) Rege STl

(E) ST

ﬁq-mﬁmmﬁﬁﬁzaﬁtmqﬁ
e el 1&T % waad a1 9 fadt ot
ﬁgmuﬁﬁa’maﬂtaﬁ%?ﬁﬁﬁ@

| i;-aaaﬁ%agc—m"mgcrﬁi’r@'rﬂ% P

(A) 309 =1 |
[B}?{E?E‘Tﬂﬂ-ﬁm?ﬂﬁﬁq

" (©) Eg-:—n?craﬁﬁ!m

(D) St 1 FEm
-~ (E) AT -

87. qﬁm?ﬁrw&wwmm%

-19.
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HREE 1

(A) T . - (B) DA
(C) Agas .. . (D) HWEw=l
(E) TSR

(¥ scanned with OKEN Scanner



88.

89.

90.

Which type of instrument requires no
calibration or comparison with other
instruments and gives the value of
an electrical quantity in terms of
absolute quantities ?

(A) Secondary inetrumente;
(B) Electronic instruments |
(C) Graphical instruments
(D) Absolute instruments
(E) Not attempted |

If the network contains at leaet one
, it is an electric circuit.

(A) Open path

(B) Closed path |

‘[Cj Resistor _ _

(D) None of the abeve

(E) Not attempted

- m 'J

Which eempenent ef a wmd turbine
_1s responsible for converting the
- kinetic energy of the wind into -

- electrical energy 7

" (A)-Rotor -

91.

" (B) Transmission
(C) Tower: :':: - -'_[D] ‘Generator
(E) Not attempted . S

The bndge used fer the meeeurement
of ee]f—mduetanee of the circuit
which works on the' prmelple of the
comparison is known: as

k2
i ), Meoewell's Bridge. - é@%

(B) Anderson Bridge
(C)- Schering Bridge -
(D)’ None of the above - -
(E) Not attempted o b
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88, ﬁmmﬁwﬁmw%

meﬁﬁﬁlmmmm-ﬁm%
sl h el A B 7
(A) Teafies YT

(B) 3G IThTVT

(C)mﬁﬂﬁ:*‘w;w
(D) T 3T el
(E) STspRya %‘fﬁ
89, YR TRAHAFIAFITH .
@t 78 T forgd afug 2 |
_(a) g
. (B) WY
(C) whiass
(Djsﬁmﬁﬁﬁé?‘ﬁ
 (E) 3ygiia
90, * e TATH 1 HH-T1HTH &1 ) iy
mfeegamfﬁv&aeameeq
-(Alﬁm_ (B) gt
(C) T (D) St
~ (B) I 5
91. Hfhe % T-I0r F WY % Ry sy
%mm%amﬁafrrﬁgam%feew
FTH T &, Fgamr g
(&) AR B
(B) e Bt
tcli‘r&nﬁa -
{D)Wﬁﬁ?rﬁ%aﬁﬁqﬁ
(E) @i
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93.

Binary operation * on R - {~1} defined

a
*b:l
O s

(A) * is associative and commutative
(B) *is associative but not commutative

(C) *1s neither associative nor
commutative

18

(D) ‘* is commutative but not
. ' associative O30

(E) Not attempted IEE»

Which of the fnllnwing;furccs is
necessary to return the pointer of

- an electromechanical mdlcatmg

94,

98s.

instrument to'its zero positiorn

when no input signal is present ?
(A) Controlling fDII'(;Eé )
(B) Deflecting force. |
(C) Damping force
(D) Inertial force |

(E) Not attempted

‘Which one of -the following is used as
energy cunvertnr mn uptical materials ?

(A) Optlc Fibre Cable
(B) LED

(C) LASER

(D) Solar Panel

[E) Nut attempted _

What is the pnmarjf use uf a

multimeter? 0, oo

(A) Measuring wire lengths.

(B) Stripping wire msulatmn

(C) Checking vnltagcs, current and
resistance

(D) Detecting voltage preléen'ce

(E) Not attempted ® Ta

21-
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92.

93.

924.

95.

CG -~ EE24

a*b= - {1} T

.
faanurd |fFar «

(A) «Fganft 3t e 8

(B) » @ uig swae) gl 2
(C) +7 N wgdh R A & wa=d R

(D) * waad) 8 aig weanft 7€ 2
(E) stuaifye

w9 i3 39 fomra g =+ R, <@
FAEHh{ehel Fehdeh SUHWT F FAF Fl
Eﬁﬁaﬁmmaﬁ%mm

HQ -1 g FEWH & 7

(A] o 9w
(B) fadias =@
(C) TaHEH &
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96. What is the primary source of energy I 96. EAME 4 Hul &l m4fiyg o1t

in biomass ?

(A) Chemical reactions
(B) Sun

(C) Geothermal heat
(D) Fossil fuels | *
(E) Not attempted ' |

97. India’s first modernised Anganwadl

Center was launched in this place of

Haryana _
(A) Hasanpur i ’(B)- Fatehabad
(C) Rai

F | f (D) Jagadhari
(E) Not attempted Viad o .

93 The rate uf change of vulume of a
“ * sphere with respect to its 'surface
area when the radius-is 4 cm is
(A) 2 cm®/cm? o EeeE
(B) 4 cm®/cm? ‘ éﬁ ‘L
(C) 6 cm?®/em? T
(D) 8 cm’/cm?
(E) Not attempted
99,

Which of the following effects is
primarily utilized in the construction

- Juf cnmmermal electrical mstruments ?' .

(A) Chemical effect

(B) Heating.effect

(C) Magnetic effect

(D) Electrostatic effect -~
(E) Not attempted .

R
What does a non- cuntact vnltage
“detector primarily check for.?.

(A] Wire Iengths

(B) Current prescnce _
(C) antage presence
(D) Wire insulation -

(E) Not attempted

100.

CG - EEQq

0y,

(A) TarRs gfafrant
(B) ¥

(C) ¥ T

(D) Sitamey 3

(E) Imyamae

97. T 1 TgeH MY SHar 5,
#mwmaﬁrﬁwm

(A) TEI (B) qﬁ‘a’l‘q'ra
(C) ™ (D) ST
(E)
98, _.tﬂaﬁmmrﬁ% ?ﬁ@ﬁt@rﬂs

qhafnﬁasaﬂﬁs@ﬂ %atsa

() 2 1L:r11'~-'/::rn2

(B) 4 cmﬁ/cmﬂ_'

(C) 6 cm?®/¢m?

(D) 8 cm?®/cm? '. |

(E) st

99. ﬁw%rﬁaaﬁﬁﬁq—mmmﬁﬁ;
+ Yo IueReont & fmfor - srerfiyes w3
:-mﬁmw%? B e

(A) TEERE T %Eﬁg?
(B) 919 XM s
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